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M.A. - I (Economics) (New CBCS Pattern) Semester - I 
EO104 - Optional Paper - Statistics for Economics-I 

 
P. Pages :  6 GUG/S/23/14282 

Time : Three Hours Max. Marks :  80 

_____________________________________________________________________ 

 Notes : 1. All questions are compulsory. 

 2. All questions carry equal marks. 

 3. Use of simple non-programmable calculator is allowed. 

 4. Use of mathematical table is allowed. 

 

    

1.  Critically Examine the working of the central statistics organization (CSO) and suggest 

improvements in its working. 

 

OR 

 

Find out standard deviation and coefficient of variation from the following series: 

 

Mark above 0 10 20 30 40 50 60 70 

No. of Student 100 90 75 50 25 15 5 0 

 

 

16 

2.  What is regression line? How it can be measured?  

 

OR 

 

From the data given in the following table, calculate the co-efficient of correlation 

between the age of 100 Mothers (Y) and Daughters (X): 

 

Age of Mother (Y) Age of Daughters (X) Total 

5-10 10-15 15-20 20-25 25-30 

15-25 6 3 - - - 9 

25-35 3 16 10 - - 29 

35-45 - 10 15 7 - 32 

45-55 - - 7 10 4 21 

55-65 - - - 4 5 9 

Total 9 29 32 21 9 100 

 

 

16 

3.  Answer any two from the following question: 

 

a) How are the Index Numbers constructed?  

 

b) Why Fisher’s Index Number called ideal index number? Explain. 

 

 

 

 

 

 

16 
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c) Calculate Price index Numbers for 1997 on the basis of 1992 prices from the 

 following data: 

  

Articles A B C D E 

Price in 1992 12 25 10 5 6 

Price in 1997 15 20 12 10 15 

  

 

d) From the following data calculate Bowely’s Index Number:  

 

1990 (Base Year 1992 (Current Year) 

Item  Price Quantity Price  Quantity 

A 6 50 10 56 

B 2 100 2 120 

C 4 60 6 60 

D 10 30 12 24 

E 8 40 12 36 

 

 

4.  Answers any two from the following question: 

 

a) What is Time Series? Explain its importance. 

 

b) Distinguish between secular trend, seasonal variation and cyclical fluctuations. 

 

c) Find the trend of the following values by Semi average method:  

  

Year 2001 2002 2003 2004 2005 2006 

Sales (Units) 20 24 22 30 28 32 

 

d) Fit a straight line trend by the least squares method to the following data:  

 

Year 1960 1965 1970 1975 1980 1985 

Sales (Units) 12 15 17 22 24 30 

 

 

16 

5.  Answers the following question all compulsory. 

 

a) Distinguish between Probable Error and Standard Error. 

 

b) Write a note on Time Reversal Test.  

 

c) Write a note on Geometric Mean. 

 

d) Explain the components of time series.  

 

16 

  ******  
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EO104 - Optional Paper - Statistics for Economics-I 

 

Time : Three Hours Max. Marks :  80 
_____________________________________________________________________ 

 सुचना :- 1. सर्व प्रश्न आर्श्यक आहेत. 
 2. सर्व प्रश्नाांना समान गुण आहेत. 
 3. साध्या गणकयांत्राच्या र्ापरास परर्ानगी आहे. 
 4. अांकगणणतीय सारणी र्ापरण्यास परर्ानगी आहे. 

 

    

1.  कें द्रिय साांखिकी सांघटनेच्या (CSO) कायााचे टीकात्मक परीक्षण करा. तसेच त्याच्या सुधारणेसाठी 
शिफारसी द्या. 

क िं वा 
 

िालील सारणीवरून प्रमाप ववचलन आखण ववचलन गुणाांक काढा: 
 

गुण (यापके्षा जास्त) 0 10 20 30 40 50 60 70 
वर्द्यार्थयाांची सांख्या 100 90 75 50 25 15 5 0 

 
 

16 

2.  प्रतीपगमन रेषा म्हणजे काय? त्याला कश्या प्रकारे मापल्या जात?े 
 

16 

  क िं वा 
 

 

  खालील दिलेल्या सारणीर्रून 100 आई (Y) आणण मुलीच्या (X) र्याबाबत सहसांबांध गुणाांक काढा. 
 

आईचे र्य (Y) मुलीचे र्य (X)  एकूण 
5-10 10-15 15-20 20-25 25-30 

15-25 6 3 - - - 9 
25-35 3 16 10 - - 29 
35-45 - 10 15 7 - 32 
45-55 - - 7 10 4 21 
55-65 - - - 4 5 9 
एकूण 9 29 32 21 9 100 

 
 

16 

3.  खालील पैकी  ोणतेही दोन प्रश्न सोडर्ा: 
अ) ननिेशाांक कसे तयार केल ेजातात? 

ब) फिशरच्या ननिेशाांकाला आिशव ननिेशाांक का म्हटल्या जात?े स्पष्ट करा. 
क) खालील आकडेर्ारी र्रून 1992 च्या फकमतीच्या आधारार्र 1997 साठी मूल्य ननिेशाांक 
 काढा.  

र्स्तू अ ब क ड इ 
1992 चे मूल्य 12 25 10 5 6 
1997 चे मूल्य 15 20 12 10 15 

 

16 
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ड) खालील आकडेर्ारी र्रून बॉर्ले चा ननिेशाांक काढा. 
 

आधार र्षव 1990 चालू र्षव 1992  
र्स्तू  मूल्य मात्रा मूल्य मात्रा 
अ 6 50 10 56 
ब 2 100 2 120 
क 4 60 6 60 
ड 10 30 12 24 
इ 8 40 12 36 

 
 

4.  खालीलपैकी  ोणतेही दोन प्रश्न सोडर्ा: 
 
अ) काल माला म्हणजे काय? त्याचे महत्र् साांगा. 
 
ब) िीर्वकालीन प्रर्तृ्ती, हांगामी वर्चलन आणण चक्रीय चढउतार यातील िरक स्पष्ट करा. 
 
क) खालील दिलेल्या प्रर्तृ्तीच्या आधारे अधव माध्य पध्िती काढा. 
 

र्षव 2001 2002 2003 2004 2005 2006 
वर्क्री (मात्रा) 20 24 22 30 28 32 

 

ड) खालील आकडेर्ारीर्रून न्यूनतम र्गव पध्ितीद्र्ारा रेणखय प्रर्तृ्ती काढा. 
 

र्षव 1960 1965 1970 1975 1980 1985 
वर्क्री (मात्रा) 12 15 17 22 24 30 

 
 

16 

5.  खालील सर्व प्रश्नाांची उत्तरे ललहा. 
अ) सांभाव्य चूक आणण प्रमाप चूक यामधील िरक स्पष्ट करा. 
 
ब) र्ेळ व्युत्क्रम्यता चाचणी यार्र दटप ललहा. 
 
क) गुणात्मक माध्य यार्र दटप ललहा. 
 
ड) काल मालेचे र्टक स्पष्ट करा. 
 

16 

  ***********  
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M.A. - I (Economics) (New CBCS Pattern) Semester - I 
EO104 - Optional Paper - Statistics for Economics-I 

 

Time : Three Hours Max. Marks :  80 

_____________________________________________________________________ 

 सुचनाएँ :- 1. सभी प्रश्नो को हल फकजजये। 
 2. सभी प्रश्नो के अांक समान है। 
 3. सरल नॉन-प्रोग्रामेबल गणकयांत्र का उपयोग करणे की अनुमती है। 
 4. गणणतीय सारणी का उपयोग करणे की अनुमती है। 

 

    

1.  कें द्रीय साांणखकी सांगठन (CSO) के कायो का अलोचानात्मक परीक्षण फकजीये तथा उनके कायो में 
सुधार करणे के ललये सुझार् दिजीये। 
 

अथवा 
 

ननम्न शे्रणी से प्रमाप वर्चलन तथा वर्चलन गुणाांक ज्ञात फकजीये: 
 

गुण (इससे ज्यािा) 0 10 20 30 40 50 60 70 
वर्द्याथी की सांख्या 100 90 75 50 25 15 5 0 

 
 

16 

2.  प्रतीपगमन रेखा फकसे कहत ेहै? इस ेफकस प्रकार मापा जाता है? 
 

अथवा 
 

ननम्न सारणी में प्रित्त समांको से 100 माताओ (Y) और बेदटयो (X) की आयु के बीच सहसांम्बांध 
गुणाांक ज्ञात फकजीये? 

आईचे र्य (Y) मुलीच ेर्य (X) एकूण 
5-10 10-15 15-20 20-25 25-30 

15-25 6 3 - - - 9 
25-35 3 16 10 - - 29 
35-45 - 10 15 7 - 32 
45-55 - - 7 10 4 21 
55-65 - - - 4 5 9 
एकूण 9 29 32 21 9 100 

 
 

16 

3.  ननम्न में से  ोई भी दो प्रश्न को हल फकजीये: 
अ) सूचकाांक कैसे बनाये जात ेहै। 
ब) फिशर के सूचकाांक को आिशव सूचकाांक क्यो कहा जाता है। स्पष्ट फकजजये। 
क) ननम्न सामांको से 1992 के मूल्य के आधार पर 1997 के ललये मूल्य सूचकाांक ज्ञात 
 फकजीये: 

र्स्तू अ ब क ड इ 
1992 का मूल्य 12 25 10 5 6 
1997 का मूल्य 15 20 12 10 15 

 

16 
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ड) ननम्न सामांको से बॉर्ल ेका सूचकाांक ज्ञात फकजीये: 
 

आधार र्षव 1990 चालू र्षव 1992 
र्स्तू  मूल्य मात्रा मूल्य  मात्रा 
अ 6 50 10 56 
ब 2 100 2 120 
क 4 60 6 60 
ड 10 30 12 24 
इ 8 40 12 36 

 
 

4.  ननम्न में से  ोई भी दो प्रश्न को हल फकजजये: 
 
अ) काल शे्रणी वर्श्लेषण क्या है? उसका महत्र् स्पष्ट फकजजये। 
ब) िीर्वकालीन प्रर्तृ्ती, मौसमी वर्चरण तथा चक्रीय उच्चार्चन इन में भेि स्पष्ट फकजजये। 
क) ननम्नललणखत प्रर्तृ्ती के आधार पर अधव माध्य ररती ज्ञात फकजीये: 
  

र्षव 2001 2002 2003 2004 2005 2006 
बबक्री (मात्रा) 20 24 22 30 28 32 

 
ड) ननम्नललणखत डेटा से कम से कम र्गों क वर्धी द्र्ारा रैणखक प्रर्तृ्ती की गणना करे। 
 

र्षव 1960 1965 1970 1975 1980 1985 
बिक्री (मात्रा) 12 15 17 22 24 30 

 
 

16 

5.  सभी प्रश्नो को हल फकजीये. 

अ) सांभाव्य चूक आणण प्रमाप चूक इनम ेभेि स्पष्ट फकजजये। 

ब) समय व्युत्क्रम्यता टेस्ट इसपर दटप्पणी फकजीये। 

क) गुणात्मक माध्य इसपर दटप्पणी फकजीये। 

ड) काल माला के र्टक स्पष्ट फकजीये। 
 

16 

  *********  
 

 


